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QUESTION 1

Assume a scenario where deviations from the project plan occurred as a result of delivery problems, price fluctuations,
and unforeseeable capacity bottlenecks. How do you ensure that claims resulting from deviations are prepared for
contractual partners and submitted to them at suitable point of time? Please 

choose the correct answer. 

A. Actions 

B. Claim management 

C. Safety measures 

D. Status management 

Correct Answer: B 

 

QUESTION 2

Which indicator is set for assemblies that need to be ordered well in advance of consumption and are 

allocated as stock items? Please choose the correct answer. 

Response: 

A. Preliminary purchase requisition 

B. Planned independent requirement 

C. Planned purchase requisition 

D. Third party purchase requisition 

Correct Answer: A 

 

QUESTION 3

Which of the following allows you to view project objects with key performance data for quick analysis and update the
percentage complete for earned value calculations? Please choose the correct answer. Response: 

A. Project reporting 

B. Progress analysis work bench 

C. Project analysis Team View 

D. Project progress analysis 

Correct Answer: B 
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QUESTION 4

Which statements about project coding mask are true? There are 3 correct answers to this question. Response: 

A. You must always use a project coding mask for your projects. 

B. The project coding mask can begin with a numerical key. 

C. The project coding mask can be shortened later, even if projects have already been created with this project coding
mask. 

D. In project number maintenance, special characters are automatically determined using the project coding mask. 

E. You can lock a project coding mask for standard projects or operative projects. 

Correct Answer: BDE 

 

QUESTION 5

You want to confirm working hours to a WBS element using Cross Application Time Sheet (CATS). 

However, once you enter the WBS element and the working hours in CATS you receive an error message. 

What could be the reason? Please choose the correct answer. 

Response: 

A. The system status created is active. 

B. The system status master data locked is activate. 

C. You are not the responsible person for that WBS element. 

D. The confirmation exceeds the budget assigned to the WBS. 

Correct Answer: A 

 

QUESTION 6

Which of the following prerequisites need to be met in order to analyze the capacity requirements of an 

activity? 

There are 3 correct answers to this question. 

A. A distribution key must be maintained in the work center 

B. Scheduling must have been carried 

C. The capacity requirements indicator must not be set in the network header 
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D. A work center must be maintained in the activity 

Correct Answer: ABD 

 

QUESTION 7

How can you distinguish between service activities and external activities while accessing the detailed information for
service activities on the external tab page? There are 2 correct answers to this question. Response: 

A. Control key 

B. Service exits indicator 

C. Order unit 

D. Cost element 

Correct Answer: AB 

 

QUESTION 8

Among the various functions provided by progress tracking that simplify data entry and analysis which function allows
you to go the master data display for objects that are underlined? Please choose the correct answer. 

A. Copying dates 

B. Subitems 

C. Mass change of scenarios 

D. Hotspots 

Correct Answer: D 

 

QUESTION 9

Which combination allows you to assign the material components in one WBS element to different 

grouping WBS element? 

There are 2 correct answers to this question. 

Response: 

A. Plant 

B. Material group 

C. MRP group 

D. WBS group 
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Correct Answer: ABD 

 

QUESTION 10

All the currency-dependent data in the Project System is managed in three different currencies in parallel. 

These are; 

There are 3 correct answers to this question. 

Response: 

A. Business Area Currency 

B. Controlling area currency 

C. Object Currency 

D. Transaction currency 

Correct Answer: BCD 

 

QUESTION 11

Assume you have created a sales order for a material to which a strategy group for assembly processing has been
assigned and the system automatically created a so-called assembly order in the background and started assembly
processing. In this case, the assembly processing omits which stage and generates an operative order directly from the
sales order? Please choose the correct answer. 

A. Delivery stage 

B. Scheduling stage 

C. MRP Planning stage 

D. Billing stage 

Correct Answer: C 

 

QUESTION 12

Assume a scenario where deviations from the project plan occurred as a result of delivery problems, price fluctuations,
and unforeseeable capacity bottlenecks. How do you ensure that claims resulting from deviations are prepared for
contractual partners and submitted to them at suitable point of time? Please choose the correct answer. Response: 

A. Safety measures 

B. Status management 

C. Claim management 
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D. Actions 

Correct Answer: C 

 

QUESTION 13

Which of the following scenario doesn"t allow the plan value of the order to be added to the committed value of the WBS
element until the order has the status released? Please choose the correct answer. 

A. The funds commitment in plan indicator is not set 

B. The funds commitment in plan indicator is set to value less than 0 

C. The funds commitment in plan indicator also has status released 

D. The funds commitment in plan indicators is set 

Correct Answer: A 

 

QUESTION 14

An activity-relationship-activity path is cyclical and you are not able to schedule the network. Which 

analysis tool enables you to detect cyclical relationships and correct them? Please choose the correct 

answer. 

Response: 

A. Activity analysis tool 

B. Relationship analysis tool 

C. Cycle analysis tool 

D. Loop analysis tool 

Correct Answer: D 

 

QUESTION 15

Could a user with Access Control List (ACL) authorization `Read\\' lock a project? Please choose the 

correct answer. 

Response: 

A. Yes 

B. No 
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Correct Answer: A 
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